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(mg) (%) (Pa)
GB100R 0.45+0.08 99.9 60.8
AP20 0.30+0.04 99.9 67.7
T60A20 0.03+0.01 98 29.4
2500QAS 0.17+0.03 99.9 53.0
QM-A 0.15+0.04 99.9 73.5
AA 0.52+0.11 99.9 470.7
RA 0.50+0.10 99.9 343.2
A300 0.52+0.11 99.9 225.6
PF020 0.09+0.01 95 294.2
AFO7F 0.07+0.02 99.7 75.5
FM-1.2 0.012+0.005 99.2 191.2
*1 5 RH90%
*2. 0.3y m 20cm/s
*3 lcm/s
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No.2 No.1
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60 C 2.2mg/m3
No.1 60 Rt 5,220count
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1.05x 84=88cpm
A No.2 K
2.2 mg/m3 /88 cpm =0.025
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A
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A t min
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t min t 5minx 9
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R 60cpm
K
K = C/(R-D) = 1.4/(60-3) = 0.025
K
cpm 0.025 mg/m3
A
A
A
A
60 C
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R cpm 5,220 60 87 cpm
3cpm R= =84cpm K

K =2.1/84 = 0.025
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1 M:1 0.13(mg/m3) o1 1.29

2 Mz 0.38(mg/m3) o 1.08
M1 M2 M
log 0.13 + log 0.38
5 = dos - 8038) _ 1653
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o1 o2 M1 M2 o
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M 022 o 218 1 2
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logE, = log 0.22 + 1.151 log?2.18 = —0.526
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E 078 Ei1 079 Ez2 0.30

-54 -



E> 0.30 E 0.78
2
5
1
3
B

A 3

B 3

-B5 -

0.79

16



16

17

-56 -




17

(&)

45 \ T
\i;%ﬁﬁﬁﬁ\ /_aw

4
% \ ERLED
2% [\ N
g 25 \ \ |
5 M EE NN

—
- g N
| [
Z 1
I

0 01 02 03 04 05 06 0.7 08 09 1
BRIFH (M) ERRE(E)

-57-



95%

-58 -




768

-59-

12

3mg/m3

12

26



10

-60 -



-61 -



4p m

50%
50%

20l/min

9.6l/min

5l/min

5001/min

2.51/min

PM4
20l/min 4u m 50%
4 5

-62 -

4u m

NW-354



NW-354 18

¢ 25mm
@ 35mm
«( 4
18

S DT e T

-63 -



20l/min

C-30

(Imm)

C-30 9.61/min 4y m
50%

7 8 C30

-64 -



4y m

44mm

SKY-1

A,B,C(

9.6l/min

4y m

19 A 9.61/min
50% B ® 55mm

( ) ®

19

B:A&#o w7

TaNE— CiRLE—

( 9) ¢ 25mm

C(

LV-5E

LV-5E

50%

- 65 -



4y m 50%
LV-5E 10 20
35mm 5l/min
g m 50 LV-5E
5.5kg

20 LV-5E

d KEs3,0

- 66 -



5001/min
4y m 50%

21

¢ 110mm 21

-67 -



21

SHRER

1

3
FUy T
A AMMT 15— (2 bH
EEEREER (XU b
Iy byeed

12

22 HV-500F

NaRkERG
2)ERREEE T
JHRBLA (4 g mELE)

| | I |

A (FqhT=!

5001/min

2.51/min 4y m 50%

- 68 -



@ 25mm

23

@ 25mm

13

14

2.51/min

-69 -



0 1
10.00mg/m3
LD-3K2
LD-3K2

LD-3K2

cpm

15

-70 -

24

cpm

0.001

cpm



15 LD-3K2

24

S70uSFA(PISL

LD-3K2 B oMW

“ On

1

MEASURE
POWER “ ON”
1
g BGH
6
SENSI.ADJ “ SPAN CHECK”
(mg/md)

-71 -

(K



b LD-3K2

LD-1E

IEC publication 820

T60A20 @ 47mm

LD-1E

-72 -

16

3b

25



16 LD-1E

25 LD-1E

O-ADJ

POWER

MEASURE

-73 -

“ ON” BATT

“ SENSI.ADJ"
SENSI.ADJ
“ SENSI.ADJ"



LD-1E

I+

2.5%
2.5%
2.5%

I+

10 1

3.41/min

LD-3K2

LD-3K2

17 PDS-2

-74 -

PDS-2

“ MEASURE”

20cm/s



18

26

26

-75 -




27

F

F 1 B I

27
F I
28 ABCD
AB ABCD

AB CD

AD cB

-76 -

27



27

-77-

45 60%



17

N
(o]

A
A

BRI~ EFRA-

77

7

A MMMIMHITTTRT £ DTITTTHHTTRNMY
X (B O (BLED

29

45

-78-

27



a
b

30

100+ 5V

-79-

OFF



30

XROREE

Lw 77 5 |

ASD

-80-



15

30

ASD

19

-81 -

30 40



19

-82 -



31

31

18%

JIS T 8151

31

JIS T 8152

JIS M 7611

JIS T 8157

-83-




63 19
12
80.0% 95.0% 99.9%
8
NacCl DOP
RS1 RS2 RS3 RL1 RL2 RL3
DS1 DS2 DS3 DL1 DL2 DL3
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